

A combined approach example:

$$\begin{aligned} & \begin{vmatrix} -1 & 1 & 0 & -2 \\ 0 & 3 & -2 & 1 \\ 4 & -3 & -5 & 0 \\ 4 & -4 & 1 & 2 \end{vmatrix} = \begin{vmatrix} -1 & 1 & 0 & -2 \\ 0 & 3 & -2 & 1 \\ 0 & 1 & -5 & -8 \\ 4 & -4 & 1 & 2 \end{vmatrix} \\ & = \begin{vmatrix} -1 & 1 & 0 & -2 \\ 0 & 3 & -2 & 1 \\ 0 & 1 & -5 & -8 \\ 0 & 0 & 1 & -6 \end{vmatrix} = (-1)^{1+1} \cdot (-1) \cdot \begin{vmatrix} 3 & -2 & 1 \\ 1 & -5 & -8 \\ 0 & 1 & -6 \end{vmatrix} \\ & = (-1) \cdot (-1)^2 \cdot (-1) \cdot \begin{vmatrix} 1 & -5 & 8 \\ 3 & -2 & 1 \\ 0 & 1 & -6 \end{vmatrix} \\ & = 1 \cdot \begin{vmatrix} 1 & -5 & 8 \\ 0 & 13 & 25 \\ 0 & 1 & -6 \end{vmatrix} = 1 \cdot \begin{vmatrix} 13 & 25 \\ 1 & -6 \end{vmatrix} \\ & = 13 \cdot (-6) - 25 \cdot 1 = -78 - 25 = -103 \end{aligned}$$

Oct 25-6:23 PM

